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PART A: Vocabulary

Dfrecrffm.w: Choose the word or phrase (1), (2), (3), or (4) that best completes em:*fr

sentence. Then mark your answer sheet.

1- Your new spokesperson is very -—--— and clearly comfortable speaking in front of
large audiences.
1) impatient 2) willful 3) voluble 4y modish

2- Tha;}ring is made from an —-—-—-- of minerals; if it were pure gold it would never hold
its shape,
1) uccu[;rcncﬁ 2) elaboration 3) intervention 4) amalgam

3- Fortunately, the parliament --—------ the new law that would prohibit companies from
discriminating according to race in their hiring practices.
1) abridged 2) ratified 3) magnified 4) persuaded

4- The teacher did not appreciate the student's ----—- -- and gave him detention.
| ) sarcasm 2) advent 3) blunder 4) reverie

5- The police have not yet been able to find the missing child; to all of the searchers, the
child's location is still a great ~=--vee-,
1) fallacy 2) enigma 3) remorse 4) sympathy

6. I really feel sad to say that we are now witnessing environmental destruction on an
—eemmeeem SCAlEL
Iy implicit 2) inadvertent 3) articulated 4) unprecedented

7- Ted was severely ---——- by his colleagues for his use of offensive language when
addressing the guests.
1) devmtef 2) castigated 3) resigned 4) hardened

8- As shrinking military budgets add to economic woes, arms manufacturers are ---—— -
seeking to expand their markets.

1) nocturnally 2) equivocally 3) indecisively 4) aggressively
9- Much to my -—--—, | should confess that we don’t have a good indication that women
are actually taking better care of themselves today.
1) indifference 2) verification 3) chagrin 4) jubilance
10- It is to be remembered that living in a -———-- country is no guarantee you will
necessarily live a long life.
I') prosperous 2) conceptual 3) conceivable 4) long-winded

PART B: Cloze Passage

Directions: Read the following passage and decide which cheice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

The human question is the big one. (11) --------- on humans are very thin. Most human
Fupuldilﬁ-na that are forced to survive on low-calorie diets are also mdlmmmhed and are as
l{t.i} (12) -=-===--- from vitamin and mineral deficiencies. (13) --v-s-nex is on the Japanese

island of Okinawa, Walford notes: “The Okinawans have about (14) === the calorie intake
of the rest of Japan. They eat mainly fish and vegetables. They have as much as 40 times the
incidence of people (15) --——----- 100. They have less diabetes. tumors and so forth than the rest
of Japan.”
11- 1) The data exist 2) The data whose existence

3) Existing data that are 4) The existing data
12- 1) not to die as prematurely 2) as not to die prematurely

3) so not to prematurely die 4) not to die prematurely as
13- 1) Only one exception to know 2) The only exception to know

3) The only known exception 4) One exception is only known
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14- 1) 70 percent of 2) a percentage of 70
3) 70 percent 4) 70 of the percentage
15-1)in 2) for 3) over 4) with

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet,

PASSAGE 1

An agricultural subsidy is a governmental subsidy paid to farmers and agribusinesses to
supplement their income, manage the supply of agricultural commodities. and influence the
cost and supply of such commodities. Such subsidies are extremely controversial. both because
of their complex effects and because of their political origins, which involve heavy lobbying
from groups representing the interests of agribusiness. The impact of agricultural subsidies in
developed countries upon developing-country farmers and international development is well
documented. Agricultural subsidies can help drive prices down to benefit consumers, but also
mean that unsubsidised developing-country farmers have a more difficult time competing in
the world market; and the effects on poverty are particularlv negative when subsidies are
provided for crops that are also grown in developing countries since developing-country
farmers must then compete directly with subsidised developed-country farmers, for example in
cotton and sugar. The IFPRI has estimated in 2003 that the impact of subsidies costs
developing countries $24 billion in lost incomes going to agricultural and agro-industrial
production; and more than $40Bn is displaced from net agricultural exports. Moreover the
same study found that the least developed countries have a higher proportion of GDP
dependent upon agriculture. at around 36.7%. thus may be even more vulnerable to the effects
of subsidies. It has been argued that subsidised agriculture in the developed world is one of the
greatest obstacles to economie growth in the developing world: which has an indirect impact
on reducing the income available to invest in rural infrastructure such as health. safe water
supplies and electricity for the rural poor. The total amount of subsidies that go towards
agriculture in QECD countries far exceeds the amount that countries provide in development
aid.

16- The passage points to the fact that..................
1) cotton enjoys agricultural subsidies in developed countries
2) impact of subsidies has cost developing countries $24 billion
3) farmers™ income influences the cost agricultural commodities
4) developed-country farmers benefit from occasional subsidies
17- It is stated in the passage that.................
1) some “strategic’ crops get more subsidies
2) agricultural subsidies have political roots
3) controversial subsidies have little real eftect
4) lower prices leads to the removal of subsidies
18- We may understand from the passage that................
1) developing-country farming is mostly unsubsidised and cannot compete in world markets
2) countries have normally less than 36.7% of their GDP dependent upon agriculture
3) subsidies to agribusinesses is paid by both public firms and private corporations
4) lobbying groups represent the interests of governments and agribusinesses
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19- The word *which’ in the passage (underlined) best refers to........co..u

1) *economic growth’ 2) *in indirect impact’
3) *greatest obstacles’ 4) “rural infrastructure’
20- The *OECD countries’ in the passage (underlined) refers basically
7 P e countries.
1) “industrial® 2) “agricultural’® 3) *developing’ 4) *under-developed’
PASSAGE 2

Citrus cancer is a disease atfecting citrus species that is caused by the bacterium Xanthomonas
axonopodis. Infection causes lesions on the leaves. stems, and fruit of citrus trees, including
lime, oranges. and grapefruit. While not harmful to humans, canker significantly affects the
vitality of citrus trees, causing leaves and fruit to drop prematurely; a fruit infected with canker
is safe to eat but too unsightly to be sold. The disease, which is believed to have originated in
South East Asia, is extremely persistent when it becomes established in an area. making it
necessary for all citrus orchards to be destroyed for successful eradication of the disease. The
disease can be detected in orchards and on fruit by the appearance of lesions. Early detection is
critical in quarantine situations. Bacteria are tested for pathogenicity by inoculating multiple
citrus species with the bacterium. Simultaneously, other diagnostic tests (antibody detection,
fatty-acid profiling. and genetic procedures using PCR) are conducted to identify the particular
canker strain. Citrus canker outbreaks are prevented and managed in a number of ways. In
countries that do not have canker, the disease is prevented from entering the country by
quarantine measures. In countries with new outbreaks, eradication programs that are started
soon after the disease has been discovered have been successful: such programs rely on
destruction of affected orchards. When eradication has been unsuccessful and the disease has
become established. management options include replacing susceptible citrus cultivars with
resistant cultivars, applying preventive sprays of copper-based bactericides, and destroying
infected trees and all surrounding trees within an appropriate radius. The citrus industry is the
largest fresh-fruit exporting industry in Australia. Australia has had three outbreaks of citrus
canker; all three were successtully eradicated.

21- It is stated in the passage that.................
| ) pathogenicity is normally conducted on a single species of citrus
2) citrus industry is the largest exporting industry in Australia
3) citrus cancer continues even with strong quarantine measures
4) fatty-acid profiling can be used to fight against citrus cancer
22- The passage points to the fact that..............
1) citrus canker in Australia has been eradicated
2) late lesions appear on citrus in quarantine situations
3) bactericides can quickly save the infected trees within
4) citrus cancer cannot easily attack some citrus cultivars
23- According to the passage,.....coovvnue
1) South East Asian citrus orchards are extremely resistant to canker
2) eradication of citrus cancer is not possible without use of pesticides
3) it is possible to basically stop the arrival of citrus cancer to a country
4) Xanthomonas axonopodis affects disease on a wide range of fruit crops
24- The passage mentions that..............
1) fruits fall from the tree before they are ripe in citrus cancer
2) copper-based material are spraved in citrus farms in Australia
3) canker is harmful to both and humans and species of citrus trees
4y antibody detection 1s the cheapest was to identify canker strains



8 dxiwo 618F (63291 oLzl g )gli i 4Dy o903

25- The word “unsightly’ in the passage (underlined) is closest t0...ocuviininn
1) “dirty’ 2) “broken’ 3) fugly’ 4) *small’
PASSAGE 3

The farmer population is approximately five percent of the total population in the E.U. and
1)7% in the U.S. The total value of agricultural production in the E.U, amounted to 128 billion
euros. About forty-nine percent of this amount was accounted for by political measures: 37
billion euros due to direct payments and 43 billion euros from consumers due to the artificially
high price. Eighty percent of European farmers receive a direct payment of 5.000 euros or less.
while 2)2% receive a direct payment above 50,000 euros, totalling forty percent of all direct
subsidies. The average LS. farmer receives $16,000 in annual subsidies. Two-thirds of farmers
receive no direct payments. Of those that do. the average amount amongst the lowest paid
eighty percent was $7000 from 1995-2003) Subsidies are a mix of tax reductions, direct cash
payments and below-market prices on water and other inputs. Some claim that these gggregate
figures are misleading because large agribusinesses. rather than individual farmers. receive a
significant share of total subsidy spending. In the EU, € 54 billion of subsidies are paid every
year. An increasing share of the subsidies is being decoupled from production and lumped into
the Single Farm Payment (SFP). While this has diminished the distortions created by the
Common Agricultural Policy (CAP). many critics argue that a greater focus on the provision of
public goods. such as biodiversity and clean water. is needed. The next major reform is
expected for 2014, when a new long-term EU budget is coming into effect. The U.S,
Conservation Reserve Program (CRP) leases land from producers that take marginal land out
of production and convert it back to a near-natural state by planting native grasses and other
plants. Producers that offer the most environmental improvement based on a point system for
the least cost are funded first.

26- Which of the following is not included in the US mix of subsidies?

1) ‘cash payments 2) “tax reductions’
3) “farming machinery 4) *farming inputs’
27- The CRP, according to the passage, is a basically a measure to help.............
1) “forest regeneration’ 2) “erop production’
3) "agribusinesses’ 4) "environment’
28- According to the passage,.....ccovveivnnn

1) 80% of European farmers total forty percent of all direct subsidies
2) €54 billion of indirect subsidies are lumped into one subsidy in the EU
3) individual farmers receive the most significant share of subsidies in US
4) more farmers in Europe than in the US receive direct payment subsidies
29- We understand from the passage that..............
1) E.U. farmers receive almost 128 billion euros in wages annually
2) the Single Farm Payment (SFP) was a major reform in the CAP
3) the CAP largely focuses on public goods such as clean water
4) individual annual subsidies in the US do not exceed $16.000
30- The word ‘aggregate’ in the passage (underlined) is closest to................
1) ‘received’ 2) *combined’ 3) ‘resultant” 4) “calculated’
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